ALGEBRA I Exam 2.1
1.
Tell whether the lines represented by the equations are parallel, perpendicular, or neither.
y = [image: image1.emf]
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(1 point)
24x – 4y = 12
2.
Write an equation for the line that is parallel to the given line and passes through the given point. 

y = [image: image2.emf]5

x + 8; (2, 16)






(1 point)
3.
Write the equation of a line that is perpendicular to the given line and that passes through the given point.

x + 3y = 16; (–3, –4)





(1 point)
For questions 4-6, what type of relationship does the scatter plot show?


(3 points)


4.



5.




6.
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7.
The scatter plot shows the number of mistakes a piano student makes during a recital versus the amount of time the student practiced for the recital. How many mistakes do you expect the student to make at the recital after 6 hours of practicing?



(1 point)
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A.
55 mistakes
B.
37 mistakes
C.
63 mistakes
D.
45 mistakes
8.
Use a graphing calculator to find the equation of the line of best fit for the data. Find the value of the correlation coefficient r.  Predict the missing value in the table.

(1 point)


John’s Best Discus Throws

	Year
	2001
	2002
	2003
	2004
	2005
	2006
	2007
	2008
	2009

	Distance (meters)
	69.08
	69.18
	69.80
	70.24
	70.86
	71.16
	71.86
	72.08
	?


	A.
	y = 0.465x – 862.515, r = 0.994; 71.67

	B.
	y = 2.086x + 1857.375,  r = 0.994; 73.09

	C.
	y = 0.465x + 862.515, r = 0.994; 74.09

	D.
	y = –0.465x + 862.515, r = 0.994; 72.05


In the question 9 and 10, is there likely to be a correlation? If so does the correlation reflect a causal relationship? Explain.
9.
The number of hours spent studying for a test and your test mark


(1 point)
	A.
	There is a positive correlation and also a causal relationship.  The more you study for a test the better your mark is likely to be.

	B.
	There is a negative correlation.  The more you study for a test, the worse your mark is likely to be.

	C.
	There is no correlation.


10.
The average daily winter temperature and your heating bill


(1 point)
	A.
	There is a positive correlation.  The higher the average daily winter temperature the higher your heating bill.

	B.
	There is a negative correlation and a causal correlation.  The higher the average daily winter temperature the lower your heating bill.

	C.
	There is no correlation.


For questions 11-12, what is the solution of the system? Use a graph.

11.
y = 5x + 4








(2 points)
y = 5x – 3
12.
–4x + 3y = –12








(2 points)
–2x + 3y = –18
13.
Tom has a collection of 30 CDs and Nita has a collection of 18 CDs. Tom is adding 1 CD a month to his collection while Nita is adding 5 CDs a month to her collection. Solve a system of equations by graphing to find the number of months after which they will have the same number of CDs. 








(4 points)
14.
Four students were given this system of equations to solve.


(1 point)
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Each student’s solution to the system of equations is shown below.

[image: image8.jpg]Jason
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Which student’s work is correct?

A. Jason’s
B.
Karla’s

B. Lance’s
D.
Marsha’s

15.
Tyrel and Dalia bought some pens and pencils.  Tyrel bought 4 pens and 5 pencils, which cost 


him $6.71.  Dalia bought 5 pens and 3 pencils, which cost her $7.12. What is the price of a pen?  What is the price of a pencil?






(3 points)


16.
The length of a rectangle is 3 centimeters more than 3 times the width. If the perimeter of the rectangle is 46 centimeters, find the dimensions of the rectangle.


(3 points)
17.
Mike and Kim invest $12,000 in equipment to print yearbooks for schools. Each yearbook costs $5 to print and sells for $15. How many yearbooks must they sell before their business breaks even? 












(3 points)
18.
Which ordered pair is a solution of the inequality?



(1 point)

[image: image9.png]2y + 6 < 8x




	A.
	(4, 13)
	B.
	(–5, 2)
	C.
	(0, 6)
	D.
	(4, 8)


Graph the inequality in questions 19-20.
19.
[image: image10.png]











(2 points)
20.
4x + 6y ≥ 48








(2 points)
****Continue to questions 21 & 22

21.
Write the inequalities represented by the graphs below:



(3 points)



                           (A)




   (B)




(C)
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22.
Suppose your budget allows you to spend less than $24 for decorations for a party.  Streamers cost $2 a roll and tablecloths cost $6 each.  Graph the inequality represented by this situation and give three possible combinations of streamers and tablecloths you can buy.
(4 points)
BONUS:


A baker has a bag of flour that is 11% whole wheat and a bag of flour that is 63% whole wheat. How many cups of each type does the baker need to make 12 cups of a flour mixture that is 50% whole wheat? 









(2 points)
ANSWERS
1. (a)
y > -3



(b)

y > 4x – 3 



(c)
y ≤ -3x + 4
2. y ≥ -3x – 8


          y ≤ x + 8

3. Pens = $1.19, pencils = $ 0.39

4. D

5. C

6. B

7. B

8. x ≥ 100


   y ≥ 50
   y ≤ -x + 250

9. f(x) = 3(x + 4)2 – 23 

10. Graph shows minimum at (1, -9) and the points (0,-8), & (2, -8)



A
